Imperfect Subjunctive (-ra)
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Horizontal

1) TU/TO BE ABLE TO

3) USTEDES/TO GIVE

5) TU/TO BE (LOCATION)

6) NOSOTROS/TO BE ABLE TO

7) NOSOTROS/TO BE (LOCATION)
10) USTEDES/TO BE ABLE TO
13) TU/TO SLEEP
15) USTED/TO SAY
16) NOSOTROS/TO THINK
17) VOSOTROS/TO BE (LOCATION)

Vertical
1) TU/TO THINK
2) NOSOTROS/TO GIVE
4) VOSOTROS/TO BE ABLE TO
8) TU/TO HAVE
9) VOSOTROS/TO HAVE
11) TU/TO SAY
12) TU/TO GIVE
14) USTED/TO GIVE



SOLUTION

z [ > xl|<|-—
< @
o n n » W | x n
L < (@) ) -
(o o = n pd Aal—|uWw <
) T} < o < (@) o
- nd = @ L
n > L < w 9] (9] -
< D - o - < O >
[0 d — (@] w @] [0 d = o)
L wn - - D L < =
— L o > o —|W|x n
@) D = < L
-] — > x|<|wn
o |uw wn nd n -] 2
L [a) (1]
o




